## Recall Sec 12.2



• Can we "multiply" two vectors ? dot product: "product" of two vectors is a number cross product: "product" of two vectors is a vector

12.3 The Dot Product (also called the scalar product or  
inner product)  
1 Definition  
If 
$$\vec{a} = \langle a_1, a_2, a_3 \rangle$$
 and  $\vec{b} = \langle b_1, b_2, b_3 \rangle$ , then  
 $\vec{a} \cdot \vec{b} = a_1 b_1 + a_2 b_2 + a_3 b_3$ .  
If  $\vec{a} = \langle a_{1,a_2} \rangle$  and  $\vec{b} = \langle b_{1,b_2} \rangle$ , then  $\vec{a} \cdot \vec{b} = a_1 b_1 + a_2 b_2$   
Note  $\vec{a} \cdot \vec{b} = \vec{b} \cdot \vec{a}$  (The order of the vectors doesn't matter)  
EXAMPLE  $\langle 2, 4 \rangle \cdot \langle 3, -1 \rangle = 2(3) + 4(-1) = 2$   
 $\langle -1, 7, 4 \rangle \cdot \langle 6, 2, -\frac{1}{2} \rangle = (-1)(6) + 7(2) + 4(-\frac{1}{2}) = 6$ 

Fact  $\mathbf{a} \cdot \mathbf{a} \stackrel{\text{def}}{=} \langle a_1, a_2 \rangle \cdot \langle a_1, a_2 \rangle = a_1^2 + a_2^2$  $|\mathbf{a}|^2 = (|ergth of \mathbf{a}|)^2 = (\sqrt{a_1^2 + a_2^2})^2 = a_1^2 + a_2^2$  Law of Cosines  $S = \text{Distance between } \mathbb{R} \text{ and } T$   $= \sqrt{(t - r\cos\theta)^{2} + (0 - r\sin\theta)^{2}}$   $S^{2} = (t - r\cos\theta)^{2} + r^{2}(\sin\theta)^{2}$   $S^{2} = t^{2} - 2tr\cos\theta + r^{2}(\cos\theta)^{2} + r^{2}(\sin\theta)^{2}$   $S^{2} = t^{2} - 2tr\cos\theta + r^{2}(\cos\theta)^{2} + r^{2}(\sin\theta)^{2}$   $S^{2} = t^{2} + r^{2} - 2tr\cos\theta + (\sin\theta)^{2} + (\sin\theta)^{2}$   $S^{2} = t^{2} + r^{2} - 2tr\cos\theta + (\sin\theta)^{2} + (\sin\theta)^{2}$   $S^{2} = t^{2} + r^{2} - 2tr\cos\theta + (\sin\theta)^{2} + (\sin\theta)^{2}$   $S^{2} = t^{2} + r^{2} - 2tr\cos\theta + (\sin\theta)^{2} + (\sin\theta)^{2} + (\sin\theta)^{2}$   $S^{2} = t^{2} + r^{2} - 2tr\cos\theta + (\sin\theta)^{2} + (\sin\theta)^{2} + (\sin\theta)^{2}$   $S^{2} = t^{2} + r^{2} - 2tr\cos\theta + (\sin\theta)^{2} + (\sin\theta)^{2}$ 

Geometric meaning of the dot product

Let 
$$\vec{a} = \langle a_1, a_2 \rangle$$
  
 $\vec{b} = \langle b_1, b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{b} = \vec{b} = \vec{b} = \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   
 $\vec{a} - \vec{b} = \langle a_1 - b_1, a_2 - b_2 \rangle$   

## Geometric meaning of the dot product

Lec 12.3 pg 3

**3** Theorem If  $\theta$  is the angle between the vectors **a** and **b**, then

$$\mathbf{a} \cdot \mathbf{b} = |\mathbf{a}| |\mathbf{b}| \cos \theta$$

**6** Corollary If  $\theta$  is the angle between the nonzero vectors **a** and **b**, then

$$\cos \theta = \frac{\mathbf{a} \cdot \mathbf{b}}{|\mathbf{a}| |\mathbf{b}|}$$



## Webwork Prob 1

 $\langle 2, 4 \rangle \cdot \langle 3, -1 \rangle = 2(3) + 4(-1) = 2$ so the angle between  $\langle 2, 4 \rangle$  and  $\langle 3, -1 \rangle$  is <u>acute</u>

